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WO 2 X,
(1) a=-3,b=-2 OLx, —a’+3a+b*—-2b—7 DEzERD L,

O -21 @ -17 ® -11 @ -3 ® 1

(2) (=3xy®)?% x (2xy)? %3EH L,

O —72x°y8 @ 72x%y® ® —72x%y° @ 72x5y°
@ _72x5y12

(3) #KXA, BIcoWT, A+B=x%242x+1, A—B=3x2—-10x+7 O+ x_
3A+ B &k I,

O —x%?4+14x-5 ® —x?2+4+6x—-3 ® 5x*?—6x+9
@ 5x%+4+6x—3 ® 2x*—4x+4

(4) (x+y+2)(x—y+2) ZERHTLX,

O x*+4x+y*+4 @ x*2—y?+4 ® x*+4x—y*+4
@ x*-2xy+y*+4 ® x2—-2xy—y*+4

1
V241’

1
y=—=— 0kx, x’y+xy* offizkok,

(5) x = NG

D 2v2 @ 2 ® 1 @ 2 ® -2



WORNIZE Z L,

(1)

(2)

(3)

(4)

(5)

oS A={x, y, 8}, B=1{2, 6,7, 8 5 ACB #ii-TLx Eibnd
X, y Of% 1857 L,

O x=1, y=6 ® x=2, y=6 ® x=4, y=6
@ x=4 y=7 ® x=5 y=7

S Tx=3 13 x*=81 Tharvo | ] EonT, Db TEEL LD
S A

VBRI TH S,
VBERIETH LD, 35T,
TRIETH LD, BRI TR,
MERIETH TR0,
MEATRNO T, HErTE 720,

© 60

—3=a<2, 1=Sb<5Dnrx, a—b DEOHMERKD X,

® a—-b<-8 a—-b>1 @ a—-b<-8 a—-b=1
® —-8<a—-b=1 @ -8=a-b<1
® —-8<a-b<1

REX |B3x — 6] =12 %R,

O —-2=x=6 @ —-6=x=6 ® x

7
o))

x+2<2x+4

3x—1=x+9 ZMT.

rak {

O x< -2 @ x=25 ® x<-2, x=25 @ —-2<x=5
® 7L



QW y=—x2+4x +k? =2k —19 2oV T, KORWMIEZ L,
(1) Zo2WBEEDBERKNEZ LD EED x OEERD X

O x=-2 ® x=-1 ® x=0 @ x=1 ® x=2

(2) ZO2WEBOTT 7N x i 28 TxbSEE, k OFFAZRD X,

O k<-3 k>5 ® k<=2 k>2
® —-2<k<?2 @ —-2<k<19
® —-1<k<3

(3) ZoO2WEEO 77 7NFERE @D EX, kK OfEERD X,

O k=2 -19 @ k=3, =5 ® k=1+2V5 @ k=-24++3
® k=0

(4) k=6 0tx, 3=2x=6 TZO2&EHN L AEOHEPHEZRD L,



2% f(xX)=(x+2)2+5(x+2)+6 1Zo0T, KOMWZEZ K,
(1) f(2) offizske X,

© -4 @ 0 @ 4 @ 20 ® 42

(2)  fQx) ZRESMRE L,

O fx)=x+2)(x+3) @ f(x)=@&+3)(x+4)
@ fx)=x+4)(x+5) @ f(x)=(x+4)?
® f(x)=(x+6)*

(3)  f(x) =0 OfZERD K,



HRDOZMFAB CIZONT,
ZBAC =15°, ZBCD=60°, BC=1 » & x,
ZO=MAEERH L CROMWIZE 2 X,
15°
D
60°
B U AV
1
(1) tan75° &=k X,
D 1 @ 2 ® 1+V2 @ 1++V3 ® 2++V3
(2) 0°<60<180° T tan75°tanf =1 %#ji7-4 0 Ofizxkd X,
O 6 =15° ®@ 6 =30° ® 6 =60° @ 6 =105°
® 6 =135°
(3) cos75° %k X,
1 V2 V6 V6++/2 V6—/2
© 2 2 4 ® 4 4 © 4
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